
1. 12 2.   −6 3.  13 

4. 6 5.   −3 6.  9 

7. Jasmine 30 marbles, Bill 64 marbles 

8. 65, 66 9.   18, 20, 22 10.  14 

11. 10 12.  3 13.   −2 

14. −6 15.   1 16.   −3 

17. −5 18.   −2 19.   −12 

20.  21.   18 22.  

23.  24.   −7, −6, −5, −4 

25. −15, −14, −13, −12, −11 

26. The student subtracted 5 from the right side of the 
equation instead of adding 5. 

27. A 28. 7, 16 
 

29. First, use the Distributive Property and combine like 
terms. Next, subtract 8 from each side. Finally, divide 
each side by 12. 

30. 8, 9, and 10 birdhouses 

31. 2 32. 3 

33. 36 34. 8 

35. −21, −19, −17, −15 

36. −4, −2, 0, 2, 4 
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